(Multiplication Word Problems)

Solve the word problems. Show your work.

1.

There are 366 dimples on a golf ball. How many
dimples are on 27 golf balls?

The company took 59 employees to a management
conference across the country. Each round trip plane
ticket cost $799. What was the total amount needed
to take the employees to the conference?

Sandy walks 26 miles in a month. If she were consistent
in her walking for 2 years, how many miles will she
have walked?

If there are 60 minutes in one hour, how many minutes
are in a 24 hour day?
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